T : % Uf If U:r Up ’o Ip Ug max Ig max tmin+max
' ! | \" A v V | mA| mA v mA °C
1
AFX 234 EEV ! 6,3 0,47 350 350 | 45! 1200
EC 50 Phl 1 63| 1,3
’ ’ 1000 | 1000 10| 750
EN 31 Mul 2 |63 1,3}
G3sS2 STCS 3 163 08 650 100 | 500| -—-10
G3s10 i STCS 3 (63| 075 350 75| 375| —10
S1/02i 11 A 63 | RFT 4 63| 1.4 | 1000 | 1000 701 200! _s80 35 160
$1/02 i 1l C63 ‘ RFT 5 |63 1,4} 2 10 35+ +6
TG 50 | CSF 6 [63] 12 1000 | 1500|200 : 750 —50++490
Tr2-0,1/01 ! CCcCP 3 {63 0,6 450 1100 | 300 —60=+70
6D4 ; amer 7 {63]| 025 350 350 25| 100 —6
6 K23 Maz 3 [63] 095 500 75, 300
6 K25 | Maz 3 (63| 0,95 400 500
884 I int 3 |63 0,6 300 300 75} 300 -—10 1 —75++490
1258 amer 8 |63]| 1,7 1000 | 1000 | 50 |20Ar) | +130 —60+- 4125
1) impulse maximum 6 usec.
Equivalents

AFX 212 EEV = 6D4 Tr-1050 CCCP = Tr2-0,1/0,1

PTS CCCP = 884 T66G Fiv = 884

1r-0,3/0,3 CCCP = 884 VC 1258 amer = 1258

Tr1-0,1/0,3 CCCP = 884 6Q5 amer =— 884

Tr-884 CCCP = 884 6Q5-G amer = 884
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